7. Re-arrange the sentences in correct order: 1x8=8

(@)  He fell fast asleep there but a great noise woke him up.

(b) It was crying for pain in its leg.

()  Androcles was very much afraid and felt sure that the beast would
kill him.

(d)  Alion had entered the cave roaring loudly.

(e)  He wentto the lion.

(f)  Then, he removed a thorn from the lion’s paw.

()  Soon, he realised that the lion was not angry.

(h)  Once, Androcles fled away from his master’s house and hid himself
in a cave.

Part- B : Writing Test (50 Marks)

8. Write a paragraph on ‘Your School Magazine’. 10

9. Read the beginning of a story. Write ten new sentences to complete the
story: 10
Robert Bruce was the king of Scotland. His army was defeated again and
again against the King Edward- 1 of England. Being defeated for six times,
he lost his hope .................

10.  The graph shows the number of people using the internet from the year
2013 to 2017 in Bangladesh. Now, describe the graph in 150 words. You
should highlight and summarize the information. 10
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11.  Suppose, you are Manik. Your School is rich in co-curricular activities.
Your friend Nafiz wants to know about the co-curricular activities of your
school. Now, write a letter to him describing the co-curricular activities
of your school. 10

12.  Your are Nabil. You have recently been aware of the bad effects of drug

addiction which has gripped our young generation badly. Now, write a
short dialogue between you and your friend on the bad effects of drug
addiction. 10
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Part- A : Reading Test (50 Marks)

Read the passage and answer the question below:
The Internet technology has helped design a large number of websites to
facilitate social relations among people around the world. These are known
as social networking services or social networks or social media. At present,
Facebook is the most popular social media site. Google+, Twitter, LinkedlIn,
etc. are other frequently used social services. Social network services are
web-based and hence, provide ways for the users to interact through the
Internet. These services make it possible to connect people sharing interests
and activities across the borders and thus have made the users feel that they
really live in a global village. Why are social networks expanding so fast?
The answer is simple. Most of the social services are cost-free. You can
make use of them free, paying a very little to your Internet service provider.
Secondly, you can make your personal profile public before the entire
online community. It is like presenting yourself before the entire world. You
can also look into other people’s profiles if you are interested. It is simple
and easy. Thirdly, social networks allow users to upload pictures,
multimedia contents and modify the profile. Some services like Facebook
allow users to update their profiles. Fourthly, networks allow users to post
blog entries. User profiles have a section dedicated to comments from
friends and other users. Finally, there are privacy protection measures too. A
user himself or herself decides over the number of visitors/viewers, and
what information should be shared with others.
Choose the correct answer from the alternatives below: Ix7=7
(@)  The word ‘privacy’ mentioned in the passage means .

(i) seclusion (ii) publicity (iii) communal  (iv) intimacy
(b)  The utility of website is

(i) abusing social network (i) creating social awareness

(i) discouraging social relations (iv) promoting universal brotherhood
(c)  Users have to pay for

(i) social network

(iii) online connection
(d)  Users profile has a section for

(i) others’ remarks (i) outsiders’ editing

(iii) outsiders’ supervision (iv) outsiders’ uploading

(ii) multimedia facility
(iv) uploading contents



(e)  Social networks enable the users to decide their own sense of .

(i) selecting friends (i) wit and humour

(iii) storing photos (iv) sharing information
() The word protection does not mean .

(i) defence (ii) guard (iii) safeguard  (iv) seclusion
(9)  This passage highlights the importance of

(i) social network services (ii) electronic media

(iii) information technology  (iv) complete education
Answer the following questions : 2x5=10
(@)  What is the reason behind the emergence of so many websites?
(b)  What do you know about social network services?
(¢)  How are these networks making a global community?
(d What do you consider the most important reason behind the

expansion of social networks?
(e)  How do the social networks help you develop sense and sensibility?
Read the text and fill in each gap with a suitable word based on the
information of the text. 1x5=5
21 February is observed as Shaheed Dibosh every year throughout the
country in remembrance of the martyrs of Language Movement of 1952.
The occasion begins at the early hours of the day with mourning songs that
recall the supreme sacrifices of our language martyrs. People wear black
badges and go to the Shaheed Minar barefooted in procession, singing
mourning songs. They place wreaths at the Minar. Many of them visit the
graves of the martyrs at Azimpur graveyard and pray for them. They also
attend various programmes organized in remembrance of the language
martyrs. The UNESCO (United Nations Educational, Scientific and Cultural
Organisation) on 17 November in 1999 proclaimed February 21 as the
International Mother Language Day in recognition of the sacrifices of the
martyrs for the rightful place of Bangla. The day is now annually observed
worldwide to promote awareness of linguistic and cultural diversity and
multilingualism.

People (a) 21 February as Shaheed Dibosh every year throughout
the country to remember the memory of the martyrs of the Language
Movement of 1952. People get up early in the morning. They walk (b)

to the Shaheed Minar. (c) black badges, they go to the
Shaheed Minar singing mourning songs. They (d) homage to the
memory of the martyrs. They offer flowers at Shaheed Minar to show their
profound (e)

Read the following passage carefully and answer the questions 4 & 5.

Albert Einestein was one of the greatest scientists of the world. He was born
as the first child of Jewish parents in Ulm, Germany on March 14, 1879. His
father was a businessman and his family business was the manufacture of
electronic parts. When the business failed in 1894, the family moved to
Milan, Italy. Within a year, still without having completed secondary
school, he failed in an examination that would have allowed him to pursue a
course of study leading to diploma as an electrical engineer at the Swiss
Federal Institute of Technology in 1896 from which he graduated in 1900.
He became a professor of Theoretical Physics at the University of Zurich in
1909. In 1921, he received the Nobel Prize for physics.

Complete the table below with information from the passage. 1x5=5

Albert Einstein

Work area | Professor and Researcher of theoretical physics
Field of | (i)
contribution
Who/What | Event/ Place Year/ | Achievement/ | Why/
Activity Time Result Reason
Albert born @iy 1879
Einstein
He (iii) __ | Swiss 1896 receiving
Federal graduation in
Institute 1900
He was (iv) _ | Nobel Prize
awarded
His family | moved Milan 1895 v)

Write a summary of the above passage in your own words.
Match the parts of sentences given in column ‘A’, ‘B’ and ‘C’ to write
1x5=5

five complete sentences.

Column A

Column B

Column C

(a) We achieved our

(i) symbolizes the red

(i) sun of independence.

(b) Its red round part

(ii) is the source of our
spirit,

(i) hopes and
aspirations.

(c) As the sun is the
source

(iii) at any cost and
save the existence

(iii) of a sea of blood in
1971.

(d) Our national flag

(iv) national flag at the
cost

(iv) and dignity of our
national flag.

(e) So, we must defend
our independence

(v) of life on the earth,
it also signifies

(v) our glorious
existence.
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